CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : A

TR

MATHEMATICS
(Academic/Open)
[ &< Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TTg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I JeT9H 7 GRT g 15 T

797 32 8y

Please make sure that the printed pages in this
question paper are 15 in number and it contains
32 questions.

Jo7-0 H qlET & & N 79 79 S THC T G B
B FOT-Jikiel & Jeg-9 97 fod)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

FUT FIT B FAC G G FT F Y, T HHE
S7eq [

Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : A) P.T.O.

Downloaded from cclchapter.com



(2) 4203/(Set : A)
o FuT-gikTm & diF 7Gxl G/ 9 T 881
Don’t leave blank page/pages in your answer-book.

o JUTyRTE % Gk _#HE o e T Al o
ST & [d ST fr@r g 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o GeETE] ST T To FIT-YH T SavT i@
Candidates must write their Roll Number on the
question paper.

oYY 97 F FAY 37 G g7 I8 Glved B [# JT-E
g7 7 7E &, Thar # Iy a9y 7 g A aar
BT Tel 19T T

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 3
General Instruction :
(i) & FeT S &
All questions are compulsory.

(i) 39 F97-99 § g 32 o7 & o f& AT G
g aovgHae @e:

This question paper consists of 32 questions
in all which are divided into four Sections :
A B CandD:

4203/(Set : A)
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(3)  4203/(Set : A)

G & - 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 8

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% 39 % 717 @21 T 75 797 &,
9% J97 3 37 & 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 97 &,
% T97 4 3% T &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 97 8,
J9% J97 5 51% T &1

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ go71 7 o7=iiE [Aweq _RE 7 &
37 @ Q% J97 # g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : A) P.T.O.

Downloaded from cclchapter.com



(4) 4203/(Set : A)
goEg -
SECTION — A

1. 0.375ﬁ§%wﬁmﬁ2ﬁﬁm 1

Express 0.375 in the form P

q

2. fEEm 9gue x? + 7x+10 % AR B AT S B 1

Find the sum of zeroes of quadratic polynomial

X2 +7x+10.

3. TIHCN x+y=14 N x-y=4 & x A y @

e ® 1
(A) x=9,y=4 B) x=9,y=5
(©) x=5,y=9 (D) ¥ & H§ T

The values of x and y from the equations

x+y=14 and x-y =4 are:
(A) x=9,y=4 B) x=9,y=5

(C) x=5,y=9 (D) None of these

4203/(Set : A)
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(5)  4203/(Set : A)

4. 10,7, 4, oo, A.P. & 303 W@ ® : 1
(A) 77 (B) 87
©) -77 (D) & § HE T
30th term of the A.P. 10, 7, 4, ........... is :
(A) 77 (B) 87
c =77 (D) None of these

5. 3, 1, =1, =3, weeeceerrernns AP. F HE-FR FA
FifeTT| 1
Find the common difference of the A.P. : 3, 1, -1,
=3, i, .

6. HSh H RU =&l § § el Ik H TGN w8, R

WM & 9N : 1

LS 1 AP 2 2 (Gatmem, qweq)

Fill in the blank using the correct word given in

bracket :

All circles are ........... (congruent, similar)
4203/(Set : A) P.T.O.
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(6) 4203/(Set : A)
7. A THEY BT H OgeE 409 B ouE § ¥ g B

% Sl B ST © 1
(A) 16:81 B) 8:18
(C) 81:16 (D) 12 : 27

Sides of two similar triangles are in the ratio 4 : 9.

Areas of their triangles are in the ratio :
(A) 16:81 (B) 8:18

(C) 81:16 (D) 12 : 27

8. & g Q § Uk g W Wl W &l T=E 24 cm T

Q # = ¥ T 25 cm B g B Brew B 1
(A) 15cm (B) 12 cm

From a point Q, the length of the tangent to a
circle is 24 cm and the distance of Q from the

centre is 25 cm. The radius of circle is :
(A) 15cm (B) 12 cm

(C) 24.5cm (D) 7cm

4203/(Set : A)
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(7) 4203/(Set : A)

9. R M &l yfdf Hifom : 1
frdl g # W WM T . frgatl W
gfe8T HH Bl

Fill in the blank :

A tangent to a circle intersects it in .................

point(s).

10. (2, 3) ¥R (4, 1) [ogaft & 9190 & g0 & Hifom 1
Find the distance between the points (2, 3) and
(4, 1).

11. (7, 6) R (-3, —4) fogatt ® FAM a @ &1 7
feg o &I 1
Find the mid point of the line joining the points
(7, 6) and (-3, -4).
sin18°

12. & HE TG i 1
cos 72°
Evaluate : sin18°

cos 72°
4203/(Set : A) P.T.O.
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(8) 4203/(Set : A)
13. AABC ¥, R9®H #9T B G 8, AB = 24 cm 3R

BC=7cm 8l sin A & 99 8 : 1
7 7

(A) 25 (B) 24
24 "

(©C) 55 (D) Eﬂﬁﬁaﬁgﬁﬁ

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.
The value of sin A is :

7 7
(A) 25 (B) o7
(@) . (D) None of these
25
14. 6 cm Bedl a1 TF g0 & U BoU@Us & &% §d
FITY, e BT 60° B 1

Find the area of a sector of a circle with radius
6 cm, if angle of the sector is 60°.

15. g9, e =R, Ao oK SR A 12 m, 10 m

3 8 m N M & : 1
(A) 592 m3 (B) 960 m3
(C) 480 m3 (D) TTH & iz -T&l

The volume of the cuboid, whose length, breadth
and height are 12 m, 10 m and 8 m respectively
is :

(A) 592 m3 (B) 960 m3
(C) 480 ms3 (D) None of these

4203/(Set : A)
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16.

17.

18.

19.

(9) 4203/(Set : A)
a UG B UH G BpT AT 21 Al 9rat @ geneT &
T 8 B &l FIhT S i 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is 8.
gus - 9
SECTION - B

oz #ife 5 V2 e emfdm e B 3

Prove that \/5 is irrational.

TEUE p(x)=x> -3x%>+5x-3 W TR g(x)=x>-2
§ AN FHIW AR T ATE S BT 3

Divide the polynomial p(x)=x>-3x?+5x-3 by
the polynomial g(x)=x?-2. Find the quotient

and remainder.

90 I # TR Al Uh dehl o T Th ©Y &
AR A W 1.2 H/q & 9@ & Id@ W &l qQ T
I & 3.6 {1 @ FaR W B, T 4 FFT I& I ASH
P BET H TG S B 3

A girl of height 90 cm is walking away from the
base of a lamp-post at a speed of 1.2 m/s. If the
lamp is 3.6 m above the ground, find the length

of her shadow after 4 seconds.

4203/(Set : A) P.T.O.
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20.

21.

22.

23.

(10) 4203/(Set : A)

AOPQ H, fSTH& ®IT P §HHI 8, OP = 7 cm 3R
OQ—PQ=lcm.sinQ3ﬁ'{cosQ%IIH§|'lﬁ
T 3

In AOPQ, right-angled at P, OP = 7 cm and
OQ - PQ = 1 cm. Determine the values of sin Q
and cos Q.

TH Iq B IR §T SN e 89%d 6.16 cm? Bl 3

Find the circumference of a circle whose area is
6.16 cm?.

gue - 9
SECTION-C
B P ¢ 4
2313w 2-2-
Xy Xy
Solve :
2,3 13and2-2-
X Yy X Yy

T g FHEO 5x% -6x-2=0 % YA
Bl 4

Find the roots of the equation 5x2-6x-2=0
by the method of completing the square.

4203/(Set : A)
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(11) 4203/(Set : A)
24. T8 99 40 &9 YUlidl & AN H HeC, S 6 &
e 2 4
Find the sum of the first 40 positive integers
divisible by 6.
25. % U U BT ABC & qHEU Th BIYSl & &
W,ngﬁmmmﬁeﬁwwﬁzﬁg
2l 4
Construct a triangle to a given triangle ABC with
its sides equal to 3 of the corresponding sides
of the triangle ABC.
26. fgalt A(2, —2) 3R B(-7, 4) & Sied a1 @RS &l
qq-Ffo & A fogell & Fevis s S 4

Find the co-ordinates of the points of trisection of
the line segment joining the points A(2, -2) and

B(-7, 4).
27. I THR ¥ B T 52 T B TH T H F TH G
fera ST B1 kA sa @I 7 gE ww 4

One card is drawn from a well-shuffled deck of
52 cards. Calculate the probability that the card
will :

(i) Uh g9l 2N,
be an ace,
(i) U BT TEI BT

not be an ace.

4203/(Set : A) P.T.O.
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28.

29.

30.

(12) 4203/(Set : A)
gue - §
SECTION-D
Uh AEAHR G H fahe IHH BIE o @ 60 Hio
A dar 51 A TS O B 4o § 30 Ho 3fE
A, AT B T S Bl 5
The diagonal of a rectangular field is 60 metres
more than the shorter side. If the longer side is

30 metres more than the shorter side, find the

sides of the field.

6 cm Bl &1 U6 g GiFT =% ¥ 10 cm I Rud
T g 8 g9 W @l @ gE # @A A ol
I Al A 5
Draw a circle of radius 6 cm. From a point 10 cm

away from its centre, construct the pair of

tangents to the circle and measure their lengths.

Tl W 0% HMR SEE Gl ol ol @ U g 4,
St AR & TR 8 15 m R 8, AR & RER &
I HT 60° Bl HAR & SHArR T A 5

4203/(Set : A)
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31.

(13) 4203/(Set : A)

A tower stands vertically on the ground. From a
point on the ground, which is 15 m away from
the foot of the tower, the angle of elevation of the
top of the tower is found to be 60°. Find the
height of the tower.

3TeE
OR

g FfT ¢ 5
1-cos®©

(cosec 8 — cot 0)? =
1+cos©
Prove that :

(cosec 8 — cot 6)? = s _Codl
1+cosO

FE TG S FW F GO & Uh @I AT & SAHR
H & Ed FW Th Gl SaT AGNNG 81 AN
F A 14 cm & X 30 T B A S8 13 cm Bl
3H O 1 SN TO A6 S HioTg| 5

A vessel open at the top is in the form of a hollow

hemisphere mounted by a hollow cylinder. The
diameter of the hemisphere is 14 cm and the
total height of the vessel is 13 cm. Find the inner

surface area of the vessel.

4203/(Set : A) P.T.O.
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(14) 4203/(Set : A)
32. faRad IRERAr S &l 71T 3 BT 5

FEGIT | 100-120 | 120-140 | 140-160 | 160-180 | 180-200

FrSear 12 14 8 6 10
Find the mean of the following frequency
distribution :

Class-Interval| 100-120 | 120-140|140-160 | 160-180 | 180-200

Frequency 12 14 8 6 10
Srgar
OR
il offes! & AftEm 525 B x X y F 9
T HIOW, AT HA TRIRAT 100 & : 5
F-TT | R
0-100 2
100-200 5
200-300 x
300-400 12
400-500 17
500-600 20
600-700 y
700-800 9
800-900 7
900-1000 4

4203/(Set : A)
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(15) 4203/(Set : A)

The median of the following data is 525. Find the
value of x and y, if the total frequency is 100 :

Class-Interval | Frequency
0-100 2
100-200 5
200-300 X
300-400 12
400-500 17
500-600 20
600-700 Y
700-800 9
800-900 7
900-1000 4

4203/(Set : A)
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CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : B

TR

MATHEMATICS
(Academic/Open)
[ &< Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TTg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I JeT9H 7 GRT g 15 T

797 32 8y

Please make sure that the printed pages in this
question paper are 15 in number and it contains
32 questions.

Jo7-7 H qlET & & N 79 79 S THC T G H
B FOT-Jikiel & Jeg-9 97 fod)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

FUT FIT B FAC G JE FT F Y, T HHE
S7eq [

Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : B) P.T.O.
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(2) 4203/(Set : B)
o FuT-gikTm & diF 7Gxl G/ 9 T 881
Don’t leave blank page/pages in your answer-book.

o JUTyRTE % Gk _#HE o e T Al o
ST & [d ST fr@r g 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl Iy T To FIT-UH §T S/geT fid@)

Candidates must write their Roll Number on the
question paper.

. 7] # FAY @7 @ §d TF Gred &Y [ F9T-9H
g‘waaa?é qﬁw%a%#ﬁswww#%?s‘sﬁw
&I TE 9T FET

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 3
General Instruction :
(i) & FeT S &
All questions are compulsory.

(i) 39 F97-99 § g 32 o7 & o f& AT G
g aovgHae @e:

This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4203/(Set : B)
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(3)  4203/(Set : B)

G & - 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 8

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% 39 % 717 @21 T 75 797 &,
9% J97 3 37 & 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 97 &,
% T97 4 3% T &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 97 8,
J9% J97 5 51% T &1

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ go71 7 o7=iiE [Aweq _RE 7 &
37 @ Q% J97 # g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : B) P.T.O.
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(4) 4203/(Set : B)
gug - &
SECTION — A
1. 0.10421%5%@5?%%13 1

Express 0.104 in the form P

q

2. fE0d g x®+7x+10 & IR B YOG S
T 1

Find the product of zeroes of quadratic polynomial

X% +7x+10.

3. @Hl x-y=3 aﬁ?%+%=6 A x AR y & a9

£ 1
(A) x=6,y=9 B) x=9,y=6
(C) x=8,y=5 (D) FH & &5 T

The values of x and y from the equations

x-y=3 and Z+¥ =6 are :

3 2
(A) x=6,y=9 (B) x=9,y=6
(C) x=8,y=5 (D) None of these

4203/(Set : B)
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(5)  4203/(Set : B)

4. -3, —%,2, ........... A.P. & 1197 0§ ¥ : 1
(A) -38 (B) 28
(C) 22 (D) TTH @ iz 7Tl
11th term of the A.P. : -3, —%, 2, i, is :
(A) -38 (B) 28
(C) 22 (D) None of these

5. =5, -1, 3, 7, weeeeerrenn.. AP. & HE-3RK 3
i) 1
Find the common difference of the A.P. : -5, -1,
3,7, i, .

6. ®IcHh § AU =& § | TR U=l H AT F]d g, R

WM H 9RT 1
oA 3 B (qerem, Tatmem)
Fill in the blank using the correct word given in
bracket :

All squares are ........... (similar, congruent)

7. 99 BT AABC ~ ADEF & X % &%d AT
64 cm? X 121 cm? ¥l 3 EF = 15.4 cm, @ BC

H AM B 1

(A) 11.2cm B) 11.4cm

(C) 12.4 cm (D) I8 § Hi3 &l
4203/(Set : B) P.T.O.
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(6) 4203/(Set : B)

Let AABC ~ ADEF and their areas Dbe,
respectively, 64 cm? and 121 cm?. If EF = 15.4

cm, then BC is :

(A) 11.2cm B) 11.4cm
(C) 12.4cm (D) None of these
8. A TP, TQ 3= O I fFdl g9 W A WY W 34
yHR & 6 £POQ = 110°, @ £PTQ K & : 1
T
P
Lo\
(A) 80° (B) 90°
(C) 70° (D) 60°

If TP and TQ are two tangents to a circle with
centre O so that ZPOQ = 110°, then ZPTQ is :

T
P 1
Lo

(A) 80° (B) 90°

(C) 70° (D) 60°

4203/(Set : B)
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(7) 4203/(Set : B)

9. R M &l yfdf Hifom : 1

10. (-5, 7) ¥R (-1, 3) fagaft & 19 & g0 & i 1
Find the distance between the points (-5, 7) and
(-1, 3).

11. (3, 4) A (5, 2) fagett & @™ acil 3@ &1 A fog
BRI LY 1
Find the mid point of the line joining the points
(3, 4) and (5, 2).

12, B026° o am o @ 1
cot64°
Evaluate : tan26°

cot64°
4203/(Set : B) P.T.O.

gq @ A [ogell WouloesE & anll @ &l

Fill in the blank :

A line intersecting a circle in two points is called

2 .

Downloaded from cclchapter.com



(8) 4203/(Set : B)
13. AABC # & #I B @99 8 AB = 24 cm 3K

BC=7cm 8l cos A & qH B : 1
7 24

(A) 25 (B) 25

© (D) T ¥ B T

In AABC, right angled at B, AB = 24 cm, BC = 7 cm.
The value of cos A is :

7 24
(A) 25 (B) 25
(@) U (D) None of these

24
14. 4 cm Beq a9 TF 94 & Th BoU@Us & 8% &
Fifory, FoTe®r HI°T 30° &1 (1 = 3.14 & TAN H §Y) 1

Find the area of a sector of a circle with radius
4 cm and of angle 30°. (use ©t = 3.14)

15. g9, foa T =g, ASE AR HaE HAT 10 m, 8 m

3 6 m F M & : 1
(A) 460 m3 (B) 480 m3
(C) 520 m? (D) & & Fg T

The volume of the cuboid, whose length, breadth
and height are 10 m, 8 m and 6 m respectively
is :

(A) 460 m3 (B) 480 m3
(C) 520 m3 (D) None of these

4203/(Set : B)
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16.

17.

18.

19.

20.

(9) 4203/(Set : B)
a UG B UH G BpT AT 21 Al 9rat @ geneT &
T 13 BN %l IehdT ST it 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is 13.

gos - §
SECTION - B
s @i % V3w TuRAg G B 3

Prove that \/§ is irrational.

RSN p)=x"-3x> +4x+5 @ ERENES g)=x?—x+1
T R FIOTT AFTHRS T AT S BT 3

Divide the polynomial p(x)=x*-3x?>+4x+5 by
the polynomial g(x)=x>-x+1. Find the quotient
and remainder.

qEE 6 m AN Th FEER WH H qH W BE &
TEE 4 m B, SE% S6 999 Uh HMR H BEl @
TE 28 m 31 HHR & HAR G ST 3

A vertical pole of length 6 m casts a shadow 4 m
long on the ground and the same time a tower
casts a shadow 28 m long. Find the height of the
tower.

APQR #, {59 #I°T Q §H&hIT 8, PR + QR = 25 cm
@TPQ=50m%IsinPaﬁrqﬁ§lﬁaﬁﬁlﬂl 3

In APQR, right-angled at Q, PR + QR = 25 cm
and PQ = 5 cm. Determine the values of sin P.

4203/(Set : B) P.T.O.
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21.

22.

23.

24.

(10) 4203/(Set : B)
Iq T &EA H o, P IRE, 11 cm o0 & TF a0
%W%W%?(n:%} 3

What is area of circle, the circumference of
which is equal to the perimeter of a square of

side 11 cm ? (n=2—72j

gig - q
SECTION-C
B P : 4
1 NS L 13
2x 3y "3x 2y 6
Solve :
SO _ . e
2x 3y 3x 2y 6

T g S B A § FEE 4x° +3x+5=0 @
T g S i 4

Find the real roots of 4x2+3x+5=0 by the

method of completing the square.

8 & Y oI 15 TON BN IRT S i 4

Find the sum of the first 15 positive multiples
of 8.

4203/(Set : B)
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25.

26.

27.

(11) 4203/(Set : B)
% R T BT ABC & 99€4 TF IS & @A
W,mzﬁaﬁrﬁ%rgﬁrwcqﬁwsgmﬁﬁ%
2l 4
Construct a triangle similar to a given triangle

ABC with its sides equal to % of the corresponding
sides of the triangle ABC.

fgelt A2, -2) 3R B(-7, 4) @l SieH A @ETS &
q9-Rieid &3 ar faegett & s s w4

Find the co-ordinates of the points of trisection
of the line segment joining the points A(2, -2)
and B(-7, 4).

TH 9 ¥ 3 i@, 2 %8 AN 4 W I (marbles)
3 IR 3H T F ¥ ©F FA1 AGHAT T ST B, a‘r
THSH 1 TR & 6 T8 @

A box contains 3 blue, 2 white and 4 red
marbles. If a marble is drawn at random from
the box, what is the probability that it will be :

(i) | B,

White,
(i) ez,
Blue,
(iii) @ Bl
Red.
4203/(Set : B) P.T.O.
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28.

29.

30.

(12) 4203/(Set : B)
goE -
SECTION-D

aA gegel & o &l <Y 180 B VI dE&A # i
I dE & 8 T Bl AN WA FI B 5

The difference of squares of two numbers is 180.
The square of the smaller number is 8 times the

larger number. Find the two numbers.

5cm Bl & g9 W U & Wy @l i, S
T 60° & FHT T bl &l 5

Draw a pair of tangents to a circle of radius 5 cm
which are inclined to each other at an angle of

60°.

T foorell ot @ T 5 m FY R W o T GEl
B AT B &1 TEHT BT B B B T Y G B
e § 1.3 m 79 & g 0% g & [ ogw
ol i e feae BN =ilRT Prad fF AR & 60°
3 P W PHA § I8 o Rl 9% wga T &k
7€ W qaEC {6 W H qE-fSg e g0 WOl &
Te-feg & B =T ? (V3 =1.73) 5

4203/(Set : B)
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31.

(13) 4203/(Set : B)

An electrician has to repair an electric fault on
a pole of height 5 m. He needs to reach a
point 1.3 m below the top of the pole to
undertake the repair work. What should be the
length of the ladder that he should use which,
when inclined at an angle of 60° to the horizontal,
would enable him to reach the required position ?

(Take+/3 = 1.73)

AYAT
OR

s FifT - 5

COS A 1+sinA

- =2secA
1+sinA COos A
Prove that :
COs A 1+SmA:25ecA

l1+sinA COos A

% RadMT B 3.5 cm 9 % S B STHR H 2,
S BT 9 U ot WX TR 71 39 e
WWIS.Scm%IEWWW
B A BT

" Eaa

4203/(Set : B) P.T.O.
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(14)

4203/(Set : B)

A toy is in the form of a cone of radius 3.5 cm
mounted on a hemisphere of same radius. The
total height of toy is 15.5 cm. Find the total
surface area of the toy.

32. MHREd IRARAl S5 & 717 1 Hhiorg 5
#W 65-68 |68-71|71-74|74-77|77-80|80-83|83-86
RS 2 4 3 8 7 4 2

Find the mean of the following frequency
distribution :

Class-Interval 65-68 |68-71|71-74|74-77|77-80|80-83|83-86
Frequency 2 4 3 8 7 4 2
YT
OR
FrTIReT IRERAT S5 &l A S i 5

FI-STT | TSI
65-85
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

4203/(Set : B)
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(15) 4203/(Set : B)

Find the median of the following frequency

distribution :
Class-Interval | Frequency

65-85 4
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4

4203/(Set : B)
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Series : Sec. M/2019

Roll No. SET : C

TR

MATHEMATICS
(Academic/Open)
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[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TTg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I JeT9H 7 GRT g 15 T

797 32 8y

Please make sure that the printed pages in this
question paper are 15 in number and it contains
32 questions.

Jo7-7 H qlET & & N 79 79 S THC T G H
B FOT-Jikiel & Jeg-9 97 fod)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

FUT FIT B FAC G JE FT F Y, T HHE
S7eq [

Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : C) P.T.O.
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(2) 4203/(Set : C)
o FuT-gikTm & diF 7Gxl G/ 9 T 881
Don’t leave blank page/pages in your answer-book.

o JUTyRTE % Gk _#HE o e T Al o
ST & [d ST fr@r g 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl Iy T To FIT-UH §T S/geT fid@)

Candidates must write their Roll Number on the
question paper.

. 7] # FAY @7 @ §d TF Gred &Y [ F9T-9H
g‘waaa?é qﬁw%a%#ﬁswww#%?s‘sﬁw
&I TE 9T FET

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 3
General Instruction :
(i) & FeT S &
All questions are compulsory.

(i) 39 F97-99 § g 32 o7 & o f& AT G
g aovgHae @e:

This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4203/(Set : C)

Downloaded from cclchapter.com



(3) 4203/(Set : C)

G & - 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 8

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% 39 % 717 @21 T 75 797 &,
9% J97 3 37 & 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 97 &,
% T97 4 3% T &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 97 8,
J9% J97 5 51% T &1

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ go71 7 o7=iiE [Aweq _RE 7 &
37 @ Q% J97 # g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : C) P.T.O.
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(4) 4203/(Set : C)
gog - I
SECTION - A

1. 0.1521%5%@5?%2%13 1

Express 0.15 in the form P

q

2. f&9d S0 x° -2x-8 % LIH H AN A oWl 1

Find the sum of zeroes of quadratic polynomial
x2-2x-8.

S.WWSx—y:SGﬁT9x—3y=9 ﬁxﬁﬁ'{yaﬁf
A9 8 1
(A) TH&d
(B) #I3 & &l
(C) A9 &

(D) 8 § Hi§ T

The values of x and y from the equations
3x-y=3 and 9x-3y =9 are:

(A) one solution
(B) no solution
(C) infinite number of solutions

(D) None of these

4203/(Set : C)
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4. 2,7,12, ........... A.P. & 10af 9% ® : 1
(A) 45 (B) 43
(C) 47 (D) 3T & @3 &I
10th term of the A.P. : 2, 7, 12, ........... is :
(A) 45 (B) 43
(C) 47 (D) None of these

5. 122 15 Q. AP. ® FE-WR @
3’3’33
B 1

. . 15

Find the common difference of the A.P. : 33
913
g e

6. ®IcHh § AT =) 4 | TR 9= H AT F]d g, R

@ # 9RT - 1
LS| N Brel @wew 2 &1 (qHiadg, aEg)
Fill in the blank using the correct word given in
bracket :

All ........... triangles are similar.

(isosceles, equilateral)

4203/(Set : C) P.T.O.
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7. B9 ABC @R DEF &9&Y & 3’ AABC &
8I%d = 16 cm?, ADEF & &8I%d = 25 cm? 3R

BC=23cm, d EF 2 : 1
(A) 2.875cm (B) 2.758 cm
(C) 2.578 cm (D) T8 § Hl3 &l

Triangles ABC and DEF are similar. If area of
AABC = 16 cm?, area of ADEF = 25 cm? and
BC = 2.3 cm, then EF is :

(A) 2.875cm (B) 2.758 cm
(C) 2.578 cm (D) None of these
8. IE UH g P § O %= an el g9 W PA, PB @i

[N WER 80° F FIT W FH &, & LPOA TR
g 1

(A) 80° (B) 50°
(C) 40° (D) 70°

If tangents PA and PB from a point P to a circle
with centre O are inclined to each other at an
angle of 80°, then ZPOA is :

(A) 80° (B) 50°

(C) 40° (D) 70°

4203/(Set : C)
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10.

11. (4, 7) 8% (2, 3) %@aﬁﬁﬁaﬁaﬁﬁ%@mqwiﬁg
S T
Find the mid point of the line joining the points
(4, 7) and (2, 3).
12. cos 48° — sin 42° & AN Qi) 1
Evaluate : cos 48° — sin 42°
13. AABC ¥, RT9® ®oT B 986 8, AB = 24 cm 3R
BC =7 cm %l sinC & A9 ¥ : 1
24
@A) —
25
7
B —
(B) 25
7
Q) =
() 24
(D) FH & &5 Tl
4203/(Set : C) P.T.O.

(7) 4203/(Set : C)

. R &= @ g #ifee 1
T I B o TR Tt @ & FER 2
Fill in the blank :
A circle can have ............. parallel tangents at
the most.
(4, 7) AR (10, -1) fogett & = & g0 & HPmQ 1

Find the distance between the points (4, 7) and
(10, -1).

Downloaded from cclchapter.com



(8) 4203/(Set : C)

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.
The value of sin C is :

24
A Sz
7
B Sz
7
©) 5

(D) None of these

14. 21 cm B9 a1 TF 9o & Th 9 &5 W 60° H B
3R XA 81 AT Hl TG ST IO 1

In a circle of radius 21 cm, an arc subtends an

angle of 60° at the centre. Find the length of arc.

15. 19, foree awE, deE oiX SuE #HAT: 10 m, 8 m

AR 5m & A& B ¢ 1
(A) 400 m3 (B) 200 m3
(C) 300 md (D) & & F T

The volume of the cuboid, whose length, breadth

and height are 10 m, 8 m and 5 m respectively

is :

(A) 400 m3 (B) 200 m3

(C) 300 ms3 (D) None of these
4203/(Set : C)
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16.

17.

18.

19.

(9) 4203/(Set : C)
QA T B T G B A 31 AN I B HeElt &
IR 12 § B A IFH O BN H TREAT F
T 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is less

than or equal to 12.

gvg - q
SECTION - B
fog @i % 5 T TuRAg G B 3
Prove that \/g is irrational.

EUE p(x)=x* -5x+6 F TR g(x)=x*-2 F A{
HITT| ARTHE T ATH S i 3
Divide the polynomial p(x)=x*—-5x+6 by the
polynomial g(x)=x?-2. Find the quotient and

remainder.

TF A 10 m 9 e § = 8 o X 30 m W
fesm &t R el 21 ARPE g @ g0 § 9 A 3

A person goes 10 m due east and then 30 m due

north. Find the distance from the starting point.

4203/(Set : C) P.T.O.
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20. % sin(A—B):%, cos(A+B):é, 0° < A+ B<90°,
A>B @ A @R B T T 3

If sin(A—B)zé, cos(A+B)=é, 0° < A + B < 90°,

A > B, find A and B.

21. AE-gAOHR 5T & ThHS B R 72 cm &l THH
BEERIEINIE] E I 3

The circumference of semi-circular piece of

design is 72 cm. Find its area.

ge - 9
SECTION-C
22. & HIN : 4
B _ \ N\ o0
2x y x 2y
Solve :
11 1,1 g
2x y x 2y

4203/(Set : C)
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23. T o S H T § fEEE @Her 257 - 7x+3=0
% Il S i1 4

Find the roots of quadratic equation 2% -7x+3=0

by the method of completing the square.

24. 0 3R 50 % 99 fauq gemet &1 I g FicE 4

Find the sum of the odd numbers between O and

50.

25. 4cm,50mﬁ?6cmﬁﬁaﬁ@ﬁﬂﬁﬁw
FT R R 36 9980 ©F o9 BIgSl & @

aaﬁq,waaﬁmgmgmﬁwwﬁaﬁg
T Bl 4

Construct a triangle of sides 4 cm, 5 cm and

6 cm and then a triangle similar to it whose
sides are % of the corresponding sides of the

first triangle.

4203/(Set : C) P.T.O.
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26. gl (5, -6) M (-1, —4) & S aQ TWRETS P
y-318 fE ofua # fasieia &t © ° 4
Find the ratio in which the y-axis divides the line
segment joining the points (5, -6) and (-1, —4).
Also find the point of intersection.

27. Uh U & Uh q) Bobl ol g1 Mg B ur s

%l ek STq HifoTT - 4
A die is thrown once. Find the probability of
getting :

(i) T THNY HE,

a prime number,
(i) 2 R 6 % d g B T,

a number lying between 2 and 6,
(iii) T faom @

an odd number.

gue - §
SECTION-D

28. T& WM WHEAM =@ § 360 km U T &
I g8 9@ 5 km/h I 2, @ 98 SE aEr ¥ 1
gl 9 9T il ISl B S i) 5

A train travels 360 km at a uniform speed. If the
speed had been 5 km/h more, it would have
taken 1 hour less for same journey. Find the
speed of the train.

4203/(Set : C)
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29.

30.

(13) 4203/(Set : C)

3.5 cm PRI % g0 W 38% &= d 6 cm H g0 W
P &g & &1 @l @Sl H AT T &7 W el
P TS AT 5

Construct two tangents to a circle of radius 3.5 cm
from a point P at a distance of 6 cm from its
centre. Measure the lengths of these tangents.

At M | T% U gT ST © WX T g AN 34
WE g5 ol & % I$ & Rex HF & g @ 8
AR 36 I 30° F HOT I ol IS B TR
g, 81 U5 @ RrER S B g 2, 8 m Bl U &
A% S B 5
A tree breaks due to storm and the broken part
bends so that the top of the tree touches the
ground making an angle 30° with it. The
distance between the foot of the tree to the point

where the top touches the ground is 8 m. Find
the height of the tree.

STeE
OR

s i 5
cotA—-cosA cosecA-1

cotA+cosA cosecA+1
Prove that :

cotA—-cosA cosecA-1
cotA+cosA cosecA+1

4203/(Set : C) P.T.O.
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4203/(Set : C)

31. 7 cm Yo a1 T HMTHR &0 % HUX Th FETe @
gOT 31 TN & A | F1 & bl § ¢ 39
TER S 39 H IO A% s Hie)

A cubical block of side 7 cm is surmounted by a
hemisphere. What is the greatest diameter the
hemisphere can have ? Find the surface area of

solid.
32. FfREad SRARAT s H1 A 371 S
- gf=reT| 50-52 | 53-55 | 56-58 | 59-61 | 62-64
gegrear | 15 | 110 | 135 | 115 | 25

5

Find the mean of the following frequency

distribution :
Class-Interval| 50-52 | 53-55|56-58 | 59-61 | 62-64
Frequency 15 110 | 135 | 115 25

YqT

OR

e F= Ru de @ Afgd & 28.5 B, A FA 60

el § x oiR y & 9N 3 FiT ¢

FI-SITT | SRS
0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5

4203/(Set : C)

5
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If the median of the distribution given below is
28.5, find the value of x and y of total number is

60 :

Class-Interval | Frequency
0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5

4203/(Set : C)
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Please make sure that the printed pages in this
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The Code No. and Set on the right side of the
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on the front page of the answer-book.
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Before beginning to answer a question, its Serial
Number must be written.

4203/(Set : D) P.T.O.
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(2) 4203/(Set : D)
o FuT-gikTm & diF 7Gxl G/ 9 T 881
Don’t leave blank page/pages in your answer-book.

o JUTyRTE % Gk _#HE o e T Al o
ST & [d ST fr@r g 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl Iy T To FIT-UH §T S/geT fid@)

Candidates must write their Roll Number on the
question paper.

. 7] # FAY @7 @ §d TF Gred &Y [ F9T-9H
g‘waaa?é qﬁw%a%#ﬁswww#%?s‘sﬁw
&I TE 9T FET

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

G 3
General Instruction :
(i) & FeT S &
All questions are compulsory.

(i) 39 F97-99 § g 32 o7 & o f& AT G
g aovgHae @e:

This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD:

4203/(Set : D)
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(3)  4203/(Set : D)

G & - 57 @ § 1 7 16 7% Z7 16 F97 &,
9% J97 1 o & 8

Section A : There are 16 questions from 1
to 16, each of 1 mark.

% 39 % 717 @21 T 75 797 &,
9% J97 3 37 & 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 97 &,
% T97 4 3% T &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 97 8,
J9% J97 5 51% T &1

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ go71 7 o7=iiE [Aweq _RE 7 &
37 @ Q% J97 # g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.

4203/(Set : D) P.T.O.
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gug - A
SECTION - A

1. 15.75ﬁ§%wﬁmﬁ2ﬁﬁm 1

Express 15.75 in the form P

q

2. O sgR x*-2x-8 @ B W THEBA A
T 1

Find the product of zeroes of the quadratic

polynomial x> -2x-8.

3. THid 2x-y=3 AR 4x+y=3 ¥ x A y A

e ® 1
A) x=1,y=-1 B) x=2,y=1
(C) x=-1,y=1 (D) 3™ & F3 T

The values of x and y from the equations

2x-y=3 and 4x+y =3 are:
(A) x=1,y=_1 (B) X=2,y=1
(C) x=-1,y=1 (D) None of these

4203/(Set : D)
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4. -0.1,-0.2,-0.3, ceoen...... A.P. % 1091 T5 8 : 1
(A) -0.9 (B) -0.8
(C) -1.0 (D) -1.1

10th term of the A.P. : -0.1, -0.2, -0.3, ...........

is :
(A) -0.9 B) -0.8
(C) -1.0 (D) -1.1

5. 0.6,1.7,2.8,3.9, ccceerrnrnn. A.P. & HE-A<R &
EAIY 1
Find the common difference of the A.P. : 0.6,
1.7,2.8,3.9, ccoeeninnnnnn. .

6. HCHh H U =l § § =l F TGN B gL, R
W H 9RT 1
qoetl N FHM WAl A & gHSl §9eY e ©, ak
T T BT ... & (SR, HTRR)
Fill in the blank using the correct word given in
bracket :

Two polygons of the same number of sides are
similar, if their corresponding angles are ........... .

(equal, proportional)

4203/(Set : D) P.T.O.
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7. BT ABC IR DEF &9&Y ¥ IR AC = 19 cm &R

DF = 8 cm, @ &9 BIell & &=kl & I & 1

19 361
) Ty

38 "
© = (D) W & #iE T

Triangles ABC and DEF are similar. If AC = 19 cm
and DF = 8 cm, the ratio of the area of two

triangles are :

19 361
a) = B ==
8 64
(@) 38 (D) None of these

65

8. 3% O I gq W & @l WM PQ R PR ¥ IR

ZQPR = 46°, @ ZQOR & : 1
(A) 160° (B) 150°
(C) 135° (D) 134°

PQ and PR are two tangents to a circle with
centre O. If ZQPR = 46°, then £ QOR is :

(A) 160° (B) 150°
(C) 135° (D) 134°

4203/(Set : D)
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9. R M &l yfdf HIfom : 1

10. (-1,-4) 3R (3, 5) fagalt & 99 & g 7q FRPT 1
Find the distance between the points (-1, —4)
and (3, 5).

11. (3, -4) 3R (7, 10) gl & @™ acl @1 & 7
EREINICIE LY 1
Find the mid point of the line joining the points
(3, —4) and (7, 10).

12. cosec 31° — sec 59° & AN A Il 1
Evaluate : cosec 31° — sec 59°

4203/(Set : D) P.T.O.

gq qU1 IHH W W1 & IS g B
Fed &
Fill in the blank :

The common point of a tangent to a circle and

the circle is called ............. .

Downloaded from cclchapter.com
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13. AABC ¥, RT@®H #9T B G896 8, AB = 24 cm 3R

BC=7cm 2l cosC & 9F 2 : 1
7 7

(A) 55 (B) 54

©) % D) =¥ q B T

In AABC, right-angled at B, AB = 24 cm, BC = 7 cm.

The value of cos C is :

7 7
(A) 25 (B) 2
24

(@) (D) None of these

25

14. B 21 cm g9 H TH 99 &% W 60° H HIOT

AR HAT 81 A9 R ST T BrouEve #i askhd

Sq i) 1

In a circle of radius 21 cm, an arc subtends an
angle of 60° at the centre. Find the area of the

sector formed by the arc.

4203/(Set : D)
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15. 919, s a=E, Ak @R HAE HAT 13 m, 10 m

3R 8 m & A © : 1
(A) 1040 m3 (B) 1060 m3
(C) 1020 m3 (D) I8 § i3 &l

The volume of the cuboid, whose length, breadth
and height are 13 m, 10 m and 8 m respectively
is :
(A) 1040 m3 (B) 1060 m3
() 1020 ms3 (D) None of these

16. I UE B Th AT Bl ST o1 A A6l B dEsT @
IR 10 B9 & Widehdr Sd S 1

Two dice are thrown at the same time. Find the

probability of getting the sum on the dice is 10.

guE -
SECTION - B

17. o= T (5 342 ws omuREy @e B 3

Prove that 3\/5 is irrational.

4203/(Set : D) P.T.O.
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18.

19.

20.

21.

(10) 4203/(Set : D)

TEUE 3x° +x%+2x+5 B x*+2x+1 § AW FHT
AMHA T ATEA S0 BTl 3

Divide the polynomial 3x>+x%+2x+5 by
x? +2x+1. Find the quotient and remainder.

7l ¥ 15 m SR W 99 B W fgeH 0% 17 m
TR B TF WG Tge o WGl B IR H @ H gl
ST i) 3

A ladder 17 m long reaches a window of a
building 15 m above the ground, find the
distance of the foot of the ladder from the

building.

IR tan(A+B)=+3 R tan(A—B):ig,0°<A+B
<90°, A> B, dl A 3R B 7 it 3
If tan(A+B)=+/3 and tan(A—B):%, 0°<A+B

<90° A > B, find A and B.

Th gq b IR FEM ¥ 33.6 cm AE B IW@ W
BT ST I 3

The circumference of a circle exceeds the
diameter by 33.6 cm. Find the area of the circle.

4203/(Set : D)
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ge - 9
SECTION-C
22, & FHiv : 4
S % _oadr2:3.13
X Yy Xy
Solve :
E—i=—2 and Z+§=13
x Yy x Yy
23. OO @ S & [ @ fEEE @O 27 +x-4=0
% o S i 4
Find the roots of the quadratic equation
2x%2 +x-4=0, by the method of completing the
square.
24. J99 1000 &5-QUihi 1 AT S HioC| 4
Find the sum of the first 1000 positive integers.
25. AABC TRU REH BC = 6 cm, AB = 5 cm 3R
ZABC = 60° Bl [ Th Bgsl &l A1 Hilow S
‘ﬂTvlTiAABCEﬁW‘ﬂTﬂBﬁEﬁ%ﬂ:ﬁﬁl 4
4203/(Set : D) P.T.O.

(11)  4203/(Set : D)
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26.

27.

(12) 4203/(Set : D)
Construct a AABC with side BC =6 cm, AB =5 cm
and ZABC = 60°. Then construct a triangle

whose sides are % of the corresponding sides of

the AABC.

fgett (-3, 10) &R (6, -8) & e a [WFETS &l
g (-1, 6) fh U § v &< &, 59 HiomI 4

Find the ratio in which the line segment joining

the points (-3, 10) and (6, —8) is divided by (-1, 6).

52 TRl B Tl YHR q Bl T TH Tl § 9 TH g
fehTIeT ST Bl 9T B9 1 a5 i 4

One card is drawn from a well shuffled deck of

52 cards. Find the probability of getting :

(i) T T H SEE,

a king of red colour,

(i) TH BH HE|

a face card.

4203/(Set : D)
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28.

29.

30.

(13) 4203/(Set : D)
gUE -
SECTION - D
& T FAME fa9 A% Qe 0 i, e
& AR 290 B 5

Find two consecutive odd positive integers, sum

of whose square is 290.

4 cm Bl & @ g9 @ifET R T 9y g 8 &
P ITNT B 8L, 36 GX Wl @Al B = i 5

Draw a circle of radius 4 cm and construct
tangents to it from an external point using the

centre.

T T9ad SHN X @8l HMIK H BT 39 RIfd § 40 m
HAYH B A & el I H I (altitude) 60° F
gy 30° & Sl 81 UMK #l Har Fd S 5

The shadow of a tower standing on a level
ground is found to be 40 m longer when the
sun's altitude is 30° than when it is 60°. Find

the height of the tower.
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HYAT
OR
GESCTIE R 5
sine—cose+1= 1
sin@+cosB0—-1 secO-tan6
Prove that :
sin@-cosO+1 1

sin®+cos®—1 secO-tand

T ST & oaRe WF T SW 3 STHR & ©
o R # B 12 m IR &9 3.5 m 2 WS
9F TN R R fd® FEE 125 m & AW
IR 21 fafesT &1 enfyar s i 5

The interior of a building is in the form of a
cylinder of base radius 12 m and height 3.5 m
surmounted by a cone of equal base and slant
height 12.5 m. Find the capacity of the building.

FfaRea SRaRar S @1 q1eg J1d PR 5

ST | 100-150 | 150-200 | 200-250 | 250-300 | 300-350

FreSrear 4 5 12 2 2

Find the mean of the following frequency
distribution :

Class-Interval| 100-150|150-200|200-250|250-300 | 300-350

Frequency 4 ) 12 2 2
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ST
OR

frfRad SRERaAr Ses & JIiegel §d BT - 5

FI-STT | RS
40-45
45-50
50-55
55-60
60-65
65-70
70-75

N W OOy o W N

Find the median of the following frequency
distribution :

Class-Interval | Frequency
40-45 2
45-50
50-55
55-60
60-65
65-70
70-75

N W o O W
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